2.
( ) 1 2
20 mmHg
SS MS F
1 1611.857 1611.857 9.086168 0.00745
18 3193.143 177.3968
19 4805
43.17036 19.57864
0.445264 0.147716
r r 05 10
a =0.05 0 tograse =2.093 10
150mmHg 10
10
CDC 10 14
CDC
n=56 n=49 T
2.4(2.0) 3.9(2.5) 321"
"'p<0.01

a =0.05 10
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42

48

38 24

35 57

45

37

30

51 41

29 33

58

50

41

46 46

70 55

42

39

52

50 33

45 52

m |0 O W |>

55

41

32

46 39

52 40

ANOVA TABLE (Fo.95:4,35

= 2.65)

40

DF

MS

1225.6

(¢)

(f)

(9)

(a)

(d)

85.314

(b)

(e)

(a)~(9)

(2

)

a =0.05

10,9, 13, 11, 16, 11,14

e

2 )@

95

(2

)

(15 )

(4 ) (togse = 2.447)



